Lot#MM112-MM113-MM11D

ltem # : BR1DNS

Assembly Instructions

Walker Please visit our website for the most current instructions, assembly tips, to report damage
Edison or request parts. www.walkeredson.com
®

Revised 02/2019
J

Copyright © 2018, by Walker Edson Furniture Co., LLC, All rights reserved. P.1



VI.

VII.

General Assembly Guidelines

Ensure that all parts and hardware are available before beginning assembly.
Follow each step carefully to ensure the proper assembly of this product.
Two people are recommended for ease in the assembly of this product.

The three main types of hardware used to assemble this product are wood
dowels, screws and bolts.

The provided glue is to secure wood dowels in place . When first inserting dowels ,
locate the appropriate hole for the dowel , place a small amount of glue in the hole
and insert the dowel . Wipe away excess glue immediately.

ﬂ%ﬁ

In future assembly steps when dowels are necessary to attach assembly parts
together , place a small amount of glue on the end of the dowel before attaching
parts together . Wipe away excess glue immediately.

4

o]

487

A Phillips head screwdriver is required for the assembly of this product.

Power tools should not be used to assemble this product.




Parts List

Part# Description Qty | | Part# Description Qty
1 Top panel O1pcs | 9 | Drawer runner 02 pcs
2 Right side panel 01 pcs | 10 | Front drawer 01 pcs
3 | Left side panel 01pcs | 11 | Left side drawer 01 pcs
4 | Bottom front crossbeam 01 pcs | 12 | Right side drawer 01 pcs
5 Back crossbeam 01 pcs | 13 | Drawer bottom 01 pcs
6 Upper front crossbeam |01 pcs| | 14 | Drawer back 01 pcs
7 | Back panel 01pcs 15 | Base 01 pcs
8 |Foot 04 pcs| | 17 | Foot crossbeam 02 pcs

P.3



Hardware List

@8*30mm Wooden dowel 30 pcs

@8*20mm Wooden dowel 04 Ppcs

DODDDDIDDDD> @3,5*25mm | Screw 04 pcs

B D

&% ) DODDIDDDODIDD @3,5*30mm | Screw 27 pcs

D)))D))DDD)))DD)))DD) M4*22mm Screw 01 Ppcs
-)DDDDDDDDD)DDD)» @4,5*45mm | Screw 08 pCs
O—— @10*10 Nail 16 Pcs
O) Knob 01 pcs
m Glue 01 pcs
@)-))))D))))))))D))))D) @7*80mm Screw 04 pcs
e Allen key 01 pcs

Hammer recommended for assembly
(not included)

Philips head screwdriver required for assembly
(not included)

The hardware quantities listed above are required for proper assembly.
Some extra hardware may also have been included.




A 26
28*30mm

B 04
28*20mm

| 01

Please assemble on
a clean soft surface
to avoid damage.

Insert wood dowel (A) and glue (1)
into parts (2, 3, 4,5, 6, 11, 12, 16).
Insert wood dowel (B) and glue (I)
into part (9).

Use screw (C) to attach
parts (2,3) to part (9)

&) oy
23,5*25mm

04




-
Step 3

Secure base (16) to panels (3) using screw (D)

] »
D | @mmmm 03

Step 4

Secure front cross beam (4,5,6)
to panels (2,3) using screw (D)

DODIRDIDIE
D ))))))))))))) 07

*30mm

Na




-
Step 5

Use screw (D) to attach

part (1) to body

D

&) P
23,5*30mm

06

Step 6

Use screw (D) to attach
part (6) to body

D

&) mmm
23,5

*30mm

03




= | o8 OEE.))))))) I
24,5*45mm @7*80mm
m 01 01
Glue tube

Allen key

and key (K).

Attach parts (8) with screws(F) and glue (I).

Apply glue to

leg contact
surfaces

~

Secure back panel (7) with part (G).

G

@))—»

210*10

16

/

P.8



-
Step 9

Insert wood dowel (A) into part
(9) (Runner small).

28*30mm)

02

Attach parts (11,12) to part (10), insert panel (13) into groves and secure
part (14) with screws(D) Insert knob (H) with screws(E).

&) 08
23,5"30mm

01

M4x22mm

Y e




-
Step 11

e

Insert wood dowel (A)

N——

28*30mm|

02

Assembly Complete!

Maintenance Guide

To maintain long term performance and easy gliding of your solid wood drawers,
we recommend applying wax to the wooden guide rails.

1.Bee's wax is recommended or Paraffin wax from a standard candle can be used.

2.Apply the wax by rubbing it on the wooden guide rails where there is wood-on-woo
contact when opening and closing the drawer. (Wax should be room temperature, do

not melt the wax onto the wood)

3.Wax should be applied every few months for the first year and then only when
needed after that to keep the drawers sliding smoothly.

P.9



